Приложение №4.

Тест на соотвествие

Соотнесите формулы.
	1.
	cos(α-β)
	А.
	cos α*cos β – sin α* sin β

	2.
	cos(α+β)
	Б.
	cos α

	3.
	sin(α+β)
	В.
	sin α *cos β – cos α * sin β

	4.
	sin(α-β)
	Г.
	2sin[image: image2.png]atp



* cos[image: image4.png]




	5.
	cos([image: image6.png]



	Д.
	sin α *cos β + cos α * sin β

	6.
	sin([image: image8.png]



	Е.
	2cos[image: image10.png]atp



* cos[image: image12.png]




	7.
	sin β- sin α
	Ж.
	2sin[image: image14.png]


* cos[image: image16.png]atp





	8.
	cos α+cos β
	З.
	sin α 

	9.
	cos α-cos β
	И.
	-2sin[image: image18.png]atp



* sin[image: image20.png]




	10.
	sin α – sin β
	К.
	cos α *cos β + sin α * sin β

	11.
	cos2 α + sin2 α
	Л.
	2 sin α* cos α

	12.
	sin2 α
	М.
	[image: image21.png]2 or





	13.
	1+tg2 α
	Н.
	3cos2 α - sin2 α

	14.
	1+ctg2 α
	О.
	[image: image22.png]1—cosa





	15.
	cos2 α
	Р.
	[image: image23.png]2tga
1- tgla





	16.
	sin2[image: image25.png]>




	С.
	[image: image26.png].





	17.
	cos2[image: image28.png]>




	Т.
	[image: image29.png]1+ cosa
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	18.
	tg2 α
	У.
	1

	19.
	tg α
	Ф.
	[image: image30.png]cosa

cina





	20.
	ctg α
	Х.
	[image: image31.png]sina

cosa






